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WIH :20214E9H 250 (+)~9H26H (H) S ARG A 7 ) —7 (50m)

No.22 BB 50m /N2 754 & L5 21.77

L INEEDE >

EhI K 4 T B FE KK B E
1 JREMAEA S J]SS—& NG 7/ 5 29.12 107%
2 HEH s £ BFDS NG 7/ 6 29.32 11k
3 EH  ME I .78 S C NG 5/ 4 29. 44 10#%
4 AR &K J S S5FIL NG 6/ 5 29.53 11#%
5 finik it M EYRSCrE /N6 5/ 5 29. 74 9%k
6 A EA SSC /N6 7/ 4 29. 86 9%
7T NRY EER XBESSEA /N6 5/ T 29.99 9%k
8 & JRE K L#HFHH NG 5/ 6 30. 15 10%
9 A SHEG BIGT=S /N6 7/ 9 30.52 105%%
10 Bl RE I .76 S C /N6 5/ 8 31.13 8k
11 hA 4 F— A& /N 7/ 3 31.17 12:%%
12 &k AR F— X2 G N6 6/ 9 31.32 9%k
13 K7 L 2L R /N6 6/ 4 31.35 8k
14 B B BIGT 3 /NG 6/ 3 31.39 9%
15 #&Elg  FLs) 72 S'S /N6 5/ 2 31. 46 9fk
16 ffk it VASZ-JEE:= /NG 5/ 9 31.54 11#%
17 = H K5 =N N = NG 7/ 8 31.55 8k
18 HE =/ A b~k /N6 7/ 7 31.62 11%
19 R f&n A B S5 NG 6/ 2 31.66 8k
20 4t Bk HEES C /NG 6/ 8 31.75 Sk
21 mijst —=}f BIGT=3 NG 6/ 7 31.79 Stk
22 A PR S S C [l /INB 6/ 1 31.95 9%k
23 AHE EHE F > rSC /NG 5/ 3 31.96 9%
24 MFT 1&E ety A H S NG 7/ 1 31.97 9K
25 {HH A BHES S /N6 4/ 3 32.12 Tk
26 K3 B THSC /NB 5/10 32.16 9k
27 K SE MG YRSCrE /N6 5/ 1 32.30 Tk
28 AEEE A S s NG 7/ 2 32.37 TH%
29 &0 73 \AVIZNY5 S NG 4/ 7 32. 44 %
30 #f I K MG EYRSCrE /N6 3/ 8 32.50 Tk
31 B H 3 ] SSHE /N6 3/ 6 32. 61 T
32 B & 4ES C /NG 4/ 4 32.82 8
33 Ky ®HiZ 2V R NG 3/ 7 32.86 Stk
34 KT BEAE IR iEdR S C /N6 2/ 3 32.92 8k
35 ek CHE SSC /NG 3/ 9 32.94 8k
36 TAE  HK ]S SHJI /NG 4/ 6 32.98 8k
37T HE BE oI EE /N6 2/ 6 33.00 %
38 #fk RO I B S S /NG 7/10 33.03 105%%
39 FI HiR B I Gl N6 3/ 4 33.05 8tk
40 4B KRE B I GHfF /N6 3/10 33.06 Stk
41 g B JrSC /N5 4/ 2 33.13 8k
42 BBy HfE J SSZEHA /e 4/ 8 33.17 Sk
43 KH—HE =A%) NG 3/ 2 33.19 6%
44 HFE FHA T A NI NS 2/ 7 33. 21 Stk
45 KR HEED V EET—E /6 6/10 33.22 8k
46 M AK A4 h=~rHk /N5 1/ 5 33.25 10#%
47 REE VEDL S S /N4 2/ 5 33.27 10i%
48 /AR PRE I 576 S C /NG 3/ 3 33. 31 10#%
49 FAR R L RS C /NG 1/ 6 33.35 S
50 &5 H JEAT BBWT 27 N 4/10 33.39 105%%
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HIH : 20214E9 A 25H (+)~9H26H (H) 28 BRI A 7 U —F (50m)
No.22 BB 50m /N2 754 & L5 21.77
L INEEDE >
B & £ T & 2E KK B FH

51 JIEF  HEX K L#&EHIH NG 3/ 1 33. 41 6%

52 T HERK MY S4=BE /N5 1/ 2 33. 45 10%%

52 Hrlr FTK = 2 AR /N5 3/ 5 33. 45 8%

54 3KEF BEH I FEIRSCrR /6 4/ 1 33. 51 Sk

55 1 [ fi2 BIGHIAKRE /M4 1/ 8 33. 63 %k

56 =& B JrSC NG 1/ 3 33.73 6%

57 KH  BE#R RS/ —=—X /)b 2/ 4 33.92 Tk

58 AHF  HERK 7 VHEIST /N6 4/ 5 34.15 TR

59 FHH K& KiEIES S NG 1/ 4 34. 24 TH%

60 )1l BRI 1toSWIM /)6 2/ 2 34.57 5%

61 [MH K AER DU H T /N 1/ 7 34.77 Tk

62 =4 FErd S AfaE ! 2/ 8 34. 85 9k
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